AP Calculus BC - Worksheet 50

Definite Integrals as Riemann Sums

In the chart below, either a definite integral or a limit of a Riemann sum has been provided. Fill in the box with the

rresponding missing information
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The graph above consists of a quarter circle, a half circle, and four line segments. For each of the expressions below
(either definite integral or limit of Riemann sum), fill in the missing information. Then determine the value of each
integral using geometric formulas (without using a calculator).
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